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AT o Aiks] A 99
AR -2 AR RS of| 3k < AUE o2 H] 3.3 7+ T e
Al 6,274,541 6,061,244 213,297
A 6,274,541 6,061,244 213,297
W g st 504,277 448 456 55,821
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22 R 7 [ A A) ] 62,142 34,901 27,241
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O2:3}8 35 2~ (65mm, 39%%) 3,510
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O71 =" 24878 (171) 1,200
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O F4g(474) = 2,200

O5AIH| 8,050

OF-&FA71(171) = 350
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OEdr (1A E) = 5,200
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401 A AR LR 1] 92,800 74,800 18,000
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O T2 A AR 7H A = 4,500

88,300 74,800 13,500 |04 AR 88,300

O A A AR 7H A = 83,500
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2EFAIE R 7,500 4,000 3,500
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B e - Dl e 62,830 58,315 4,515
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10,900 8,235 2,665 |01 AHF-¥e]H| 10,900

O dur=&-H| 10,000
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o gAY 8,600 7,200 1,400
203 319 2,000 2,000 0
2,000 2,000 0|03 AlAFZGF 5210 2,000
Oo&adudd 731 = 2,000
301 LWtE A= 6,600 5,200 1,400
5,600 4,200 1,400 |03 o] &AL H]| 5,600
Ol a5 o v 70,0001 49 #207) o) = 5,600
1,000 1,000 010 SARAEH RS 1,000
Oo-& Ao s] 32520 5,0009%1007 #23] = 1,000
S QIA A R Al % 18,555 19,810 A1,255
Sz w) % 18,555 19,810 A1,255
201 Lukg-gH] 13,245 13,000 245
13,245 13,000 245 |02 &&GH] 13,245
&g 5] 13,245
OATFAETUAAZE T = 13,245
303 A 900 900 0
900 900 0|01 EAH 900
O AT T2 733 FL4A S 30,00099%309 = 900
405 A4 S 1] 4,410 5,910 A1,500
3,500 5,000 A1,500 |01 AP =5 SH] 3,500
CA R A &3 3,500
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910 910 002 A -§)H] 910
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OAF A = 700
BN (BAFAEA ) 5,770,264 5,612,788 157,476
2 5,587,892 5,416,249 171,643
SR 5,587,892 5,416,249 171,643
101 1719] 5,039,052 4,870,649 168,403

2,615,234 2,536,909 78,325 |01 71¥+ 2,615,234

0%+ 2,414,062

O&A4(285%) 3,261,700 1124 = 39,141

O (225 %) 2,779,700 %28 12 = 66,713

O&7 (245 %) 2,537,000 %47 12 = 121,776

Ox$1(255%) 2,368,400 10«12 = 284,208

O&a4(195%) 1,986,700 377 %129 = 882,095

O2Wa (143 %) 1,636,900 30 %129 = 589,284

O HB3EE) 1,244,100 %269 *129 = 388,160

OA 5§71 2,371,375,2009)%1.8 /100 = 42,685

0= 201,172

Ok Ry 2,414,060,00091.0 /12 = 201,172

1,317,495 1,251,182 66,313 |02 T 1,317,495
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2} 7,298 #2278 #40A] 7F+12Y*1.018
b 7,298 %87 x63A] 7Hx12Y 1,018
T 19,464 #8778 +366U#1/2%1.018 =
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40,0009 %110 0. 9«12

20,00099%1107%1.61x124

52,0009 %1108 *0. 194 3]
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130,000 978 12
110,0009 #1595 * 129
80,0009 %35 124
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50,000 #2578 124

50,0004 1108124

)
61,700¢)x178%9/100+12¢9+1.018
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3,987
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A3 -39 - AR FE of At ot AT oikd Hl 2 F 7+ A& =4
203 QF-F70| 35,120 35,120 0
8,800 8,800 0|01 7] dHF-FXIH] 8,800
OaA = 4,000
01199 Al e 7 1,200,000) 478 = 4,800
4,300 4,300 0102 AA7FFAFFX14] 4,300
OA L7121 =7 H
(40,0009 %1007 )+(30,0009 %107 ) = 4,300
22,020 22,020 004 FAEFHFFHN] 22,020
0715 22,020
015 o &} 250,000 37] F-A]x129 = 9,000
030t o] 3} 350,000 #37) F-A]«129 = 12,600
O3 5,000 #7812 = 420
204 2553 A H 513,720 510,480 3,240
12,000 12,000 0|01 AHAFHFFHAN] 12,000
O 400,000 17 *129 = 4,800
O34, 119¢HA Al e 4 100,000 678 129 = 7,200
169,560 166,320 3,240 |02 A FHZH| 169,560
I 400,000 «17*12Y = 4,800
ES I 250,000 %27 #12¢Y = 6,000
O~ 155,000 %14 «12¢Y = 26,040
Oan 140,000 #3745 *12¥ = 62,160
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of At ot AQE o Hl 2 F 7+ A& =4

O M~ 2 A} 105,000 %56 124 = 70,560

332,160 332,160 0|03 SAHAFFALEH] 332,160

Ot &-5H] 50,0009 %103 *12¢ = 61,800

OF2732%H| 100,000 #4098 «129 = 48,000

O 5 geH| 170,000 #1097 129 = 222,360
182,372 196,539 A14,167
182,372 196,539 A14,167
114,602 114,400 202

103,946 103,900 46 |01 ARFFHE]H] 103,946

Oduks8-H] 39,966

OAMFEE R AR EETY = 39,966

mE R 1,800

Ot FF AL FAAH 7Y = 1,800

ek 12,480

O71&45- AT 5T 41 = 12,480

Oxg3 48,500

Og&Au| - 48,500

elxte 1,200

Ok e R o e R Rl Pt = 1,200

10,656 10,500 156 |02 &&=GHl 10,656

O&aaaT2AA 10,656
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A3 -39 - AR FE of At ot AT oikd Hl 2 F 7+ =
OHst B3| ARAT T AAARTHIAR 10,656
202 ] 44,520 44,520 0
44,520 44,520 001 =ujoin] 44,520
I o R e S ] 44,520
405 AAFH S 1] 23,250 37,619 A14,369
23,250 37,619 A14,369 |01 AL EEFH SN 23,250
OAH-&3R71 5 23,250
OPC(8d]) 8,000
ONHEUH (8TH) 3,600
Ox= e el A (2th) 1,000
Ozde ol A Zeh(1d) 2,000
OAE71(1t) 650
Ox7a(1d) 3,000
OHATALZ] (2%, 10) 5,000
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